MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/economy

Marvair, Division of Airxcel, Inc.

156 Seeding Dr.

Cordele, GA. 31015

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER -Product Control Section to be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described here in and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series “WAC 2000” Vent Hood Unit mount (Single Steel Door App)-Component Approv-LMI

APPROVAL DOCUMENT: Drawing No. ID 01664, titled “Series WAC 2000 Hood Unit mounted on Single
Outswing Door (Component Approval)”, sheets 1 through 2 of 2, dated 10/05/2020 and last revised on Jul 29, 2021,
prepared by Bri-Ko Engineering, Inc., signed and sealed by Brian Schwartz, P.E., bearing the Miami-Dade County
Product Control Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

Limitations:

1. The Hood Unit as a Component Approval to be mounted in min 16 ga Steel Single Outswing Door, having a current
door system NOA (Under separate approval). See sheet 1 for door system minimum requirement.

2. Lower Design Pressure of this component or Single door may control for the entire assembly. The Hood as a door
Component unit is reviewed for wind load only.

3. Electrical/Electronic functions and Fire Rating are not part of the approval, such installation to be reviewed by AHJ.

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and series and

following statement: "Miami-Dade County Product Control Approved", noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change

in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the

materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for

sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of

this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the

expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done

in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and

shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA# 20-0519.02 consists of this page 1 and evidence pages E-1 and E-2, as well as approval
document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.
m NOA No. 21061517
I Expiration Date: October 29, 2025
| APPROVED | ’
| 9("4‘2 { g 14’1 nle, Approval Date: September 02,2021
Page 1


http://www.miamidade.gov/economy

Marvair,
Division of Airxcel, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS NOA’S

A. DRAWINGS
1. Manufacturer's parts drawings and sections (Submitted under files below)
2. Drawing No. ID 01664, titled “Series WAC 2000 Hood Unit mounted on Single Outswing Door
(Component Approval)”, sheets 1 through 2 of 2, dated 10/05/2020, prepared by Bri-Ko
Engineering, Inc., signed and sealed by Brian Schwartz, P.E.

B. TESTS

1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94(Not performed)
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94 (Not Performed)
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Tensile strength of door skin per ASTME-8

Along with marked-up drawings and installation diagram of series DAW 2000 Hood Unit mounted on

16 ga Steel Single Outswing door. prepared by Intertek, Test Report No. J 6935.01-801-18-ro, dated

07/18/20, signed and sealed by Tyler Westerling, P.E.

C. CALCULATIONS

1.  Wind loading Structural analysis & anchor verification calculation dated 10/05/20, prepared by Bri-
Ko Engineering, Inc., signed and sealed by Brian Schwartz, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of analysis conformance, complying with FBC-7" Edition (2020), and of no
financial interest, dated 10/05/20, prepared by Bri-Ko Engineering, Inc., signed and sealed by Brian
Schwartz, P.E.

G. OTHER
1. Test proposal #20-0485 dated 05/15/20, issued by RER.

lgbasy |- £ hand,

Ishaq I. Chanda, P.E.

Product Control Unit Supervisor
NOA No. 21-0615.17

Expiration Date: October 29, 2025
Approval Date: September 02, 2021




Marvair,
Division of Airxcel, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. New EVIDENCE SUBMITTED
A. DRAWINGS
1. Drawing No. ID 01664, titled “Series WAC 2000 Hood Unit mounted on Single Outswing Door
(Component Approval)”, sheets 1 through 2 of 2, dated 10/05/2020 and last revised on Jul 29,
2021, prepared by Bri-Ko Engineering, Inc., signed and sealed by Brian Schwartz, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of analysis conformance, complying with FBC 2020 (7t Edition), and of no
financial interest, dated Jul 29, 2021, prepared by Bri-Ko Engineering, Inc., signed and sealed by Brian
Schwartz, P.E.

G. OTHER
1. This NOA revises NOA# 20-0519.02, expiring 10/29/25.
2. Test proposal #20-0485 dated 05/15/20, issued by RER.

| 90\47 e Ké’mﬁé

Ishaq I. Chanda, P.E.

Product Control Unit Supervisor
NOA No. 21-0615.17

Expiration Date: October 29, 2025
Approval Date: September 02, 2021



REVISIONS

CHECKE
DBy

SERIES VENT-HOOD WAC2000 NOTE:  SILICONE CAULKING o T o T ] p— [
UNIT MOUNTED ON UNIT HOOD ASSEMBLY wm WITH (THICK GREEN) LINE.
SINGLE OUTSWING MOUNTING ANGLES |
DOORS (COMPONENT (TOP, SIDE, & BOTIOM|) MOUNTING PANEL RGN SIS
APPROVAL) COME PRE-ATTACHED |
UNIT HOOD CHANNEL TO HOOD—— o~ OF MOUNTING PLATE
LOCKS INTO MOUNTING SILICONE CAULKING : X AT NDER T HOOD
HOOD TO THE DOOR AR D .
N\ (< CARRIAGE BOLT SIS S GENERAL NOTES:
6 PLACES SN N | v T. THIS ENGINEERING REPORT DOCUMENTS THE ANALYSIS OF VERTICAL
® ® | NN NN a MOUNT HOOD AND THE ASSOCIATED ANCHORING SYSTEMS
* NENNNNN | TO RESIST DEAD WEIGHT AND WIND LOAD FORCES.
NINNNNRR L | 'j 2. THE ANALYSIS CONFORMS TO THE REQUIREMENTS OF THE FLORIDA
RN MININTS g BUILDING CODE 7TH EDITION (2020) AND ASCE 7-16.
DETAL B % NN N 3. THE HOOD IS MOUNTED ON AN EXTERIOR DOOR OF COMMERCIAL
JCALET =2 % S GRADE STEEL WITH SOILID CORE WITH MINIMUM 16 GA (.060") WITH
MIN. Fy=36.5 KSI AND 16 GA. DOOR FRAME. (UNDER SEPERATE APPROVAL)
‘ N 4. THE HOOD IS SECURED TO A MOUNTING FRAME WHICH IS ANCHORED
\ DOOR SHOWN FOR S TO THE DOOR. THE MOUNTING FRAME IS ANCHORED AS SHOWN. THESE
5/16'x21/2°SSROHD ILLUSTRATION ONLY ANCHORS ARE TYPICALLY MANUFACTORED FROM HEAT-TREATED STEEL
CARRIAGE BOLT - 18.8-55 \ (SEE SEPARATE INFO AND HAVE CORROSION RESISTANCE AS SPECIFIED BY THE MANUFACTURER.
4 REQD ‘ SHEET FOR DE‘!‘AIL)*\ 5. LOCATION AND ANCHOR MOUNTING HOLES ARE DEFINED IN THE
MAXDOOR /.. \ MANUFACTURER'S TECHNICAL LITERATURE.
PANELWIDTH  *° . = Haa 6. DESIGN PLANNED DP FROM THIS COMPONENT APPROVAL OR APPROVED
R IMPACTED STEEL BOM SHALL CONTROL.
/28 7/8" | 7. ELECTRICAL FUNCTIONS, OPERATION AND GROUNDING ARE NOT PART OF
A 20 3/4"'} > THIS APPROVAL TO BE REVIEWED BY BUILDING INSPECTOR.
L | 8. THE HOOD MOUNT IS REVIEWED FOR WIND LOAD ONLY.
= =i e ANY SAFETY RELATED ISSUE IS NOT PART OF THIS APPROVAL.
29" o =R g =¥= b 4y MAX FRAME DOOR PRESSURE
UNT SEEEE 5/16"x 2 1/2'$S RD HD ’ WIDTH e T
o SE=1=1=1-1= / 27 12" CARRIAGE BOLT -18-8-8S ’
wre| | BEEEE o A1 UNDER SEPARATE APPROVAL
=it A —_— MIN DOOR SYSTEM REQUIREMENT
EERE SRS RTRS 18.8.55 - 6 REQD) 1. 16 GA STEEL DOOR Fy MIN. = 41 KS|
FXKS IR LK T i 2. 16 GA STEEL DOOR FRAME
g ¢ BRN 9 3. MIN. (3) HINGES 4.5"X4.5" X .134" BOLT
J e N o 4.1 LATCH THROW - 3/4" MIN. 1y,
2412~ |5 UNITHOOD 5/16" WING NUT SIS 4.2 DEAD BOLTTHROW S \g’w: Se i,
07 1/8" ASSEMBLY 84" ) 18-8-SS - 6 REQ'D ié é $x @@‘.*“{EE ”’ff@/ /,/,
/ PRODUCT REVISED >|& o) SRR R XA
EXTERIOR UNIT MAX 5:" as complying with the Florida 88 1/2" Lg_ i."' *..‘ Ng, 620 ‘!% ",‘:\4 *ZE-_
WIDTH MOUNTING PANEL x|() Building Code = ¢ 61 s =
Ol& NOA-No. 21-0615.17 - e ) . 2=
o|T Exbiration Date 10/29/2025 CONFORMANCE TO GDOE §8C MyEd 2020) § N =
Ol xpira —_— BRI-KO ENGIN cu: Qﬁn otwm;:—#z’fumz]
ié Z By lghag | Lhand ENGINEERING . B
\ = § Miami-Dade Product Control email: briko@Reagan. é' ’”’” %
tel: 954-648-6218
\—DOOR SYSTEM UNDER Uﬂﬁﬂﬂ«\
SEPARATE APPROVAL MODEL# VENT-HOOD - WAC2000 oansormwrzee o, JUL 29 2021
DIMENSIONS, WEIGHT DOOR, TYPE, & ANCHOR
HEIGHT..... 29" MOUNTING FRAME SIDE: IR T -
WIDTH .... 27 1/8"  SIDE: "D" (2) ANCHORS ot Marvair oo, oo o
DEPTH .... 8 1/4" TOP: "D" (2) ANCHORS - os  |VENFHOOD WAC00|™ " e s

WAC-HOOD COMPONENT APPROVAL

16 GA. STEEL OUTSWING DOOR
SYSTEM
(UNDER SEPARATE APPROVAL)

WEIGHT ... 59 LBS BOTTOM: (2) ANCHORS
‘D'=5/16-18X21/2"

CARRIAGE BOLTS

FRAC TIONAL
+

TTLE

VENT-HOOD WAC 2000 HURRICANE APPROVAL

AMOLLAR

+ 17

DATE

771372020

DRAWING MUMBER

ID01644 PG lof 2

REV.



ic045
New Stamp


AC UNIT VENT-HOOD e , N Iy () DESCRIPTION
OUTSIDE OF DOOR PANEL ONLY /[ /16" X2 1/2 :
CARRIAGE BOLT (2) 1| MDI2840 [SCREEN - EXHAUST HOOD!
MONING | e | wore | MEUTRGENS
5/16"X21/2" —~MOUNTING 3 92855 #10x 1/2" LG SHEET E Baa N
CARRIAGE BOLT (1) FRAME METAL SCREW A - TEaa s
CHANNEL 4 MD 14540 FRONT Wgé‘ngXHAUST @ S : x& %8s @%E
" ' R ¢ SRS % N
Ly SR [JE‘QJ
BOTTOM PANEL - S S NN
ﬂl\\ L boOR 6 | MDlassy | BOIOMPANEL L~ & . %@%
T — - i\
M FLORIDA MOUNTING 4 PLEADED TENSH.E ' e N
/ N 8 92890  |WASHER FLAT 1/4 18-8-5S LOUVER = 49KS| o
Gl PRACKETTASTRERS 7 s2889 | WASHERLGEK1/418:8- ’ —~{ : ) HOLDING PANEL TO DOOR/
F \\,. 10 92891 BOLT 1/4-20x5/8 S 18-8 : ﬂwﬁ"
S/16"X21/2 1 92264 | NUT 1/4™-20 18-8-55 FHN B
| CARRIAGEBOLT(2) BOLT 5/16-18X2 1/2 S$ RD ’ " : -
Wimax = 6901bs 12 92880 HD CARRAIGE 18-8-55 ” %QSSB%%QM%EBE%E%
W2max = 157 lbs @ DoOo0D000000000000000000
| B EnREL
Do00000000000000000000
el Y
& =i 0000000000000000000
@ = : |
LATERAL FORCE (SLIDING): O/167X 212 CARRIAGE BOLT — s D SHEEoSoReeeeee | o
. EEEA\ng /i,é)gg Qr%%&% é‘)N THE SIDE OF THE HOOD AND THE 30 1/4° R s @ %gggﬁég iﬁ?ﬁﬁ%ﬁéé@%@%ﬁ%
2. THIS LATERAL FORCE MUST BE RESISTED BY THE SHEAR STRENGTH @ 10 PR -
OF THE SUM OF THE ANCHORS. THE ANCHORS IN THE SUPPORT
BRACKET ARE NOT USED IN THE CALCULATIONS. 5 S - . . . -
MOMENT FORCE (OVERTURN]: 0 0 0 o Ry . ,..wi
3. THE WIND LOAD ACTING ON THE SIDE AND FRONT OF THE HOOD o e s o R < e s Y L&Eﬁm < :ssg_ggg:glsvﬁ‘lfltﬁs Plorida ot g,
: N A IR IR ES IR IR R = ; ] N z
WILL PIVOT THE HOOD ABOUT THE SIDE. THE FRONT WIND LOAD AND g 5 Bolidng Code  615.17 SN SChy T,
THE DEAD LOAD WILL PIVOT ABOUT THE BOTTOM. A SUM OF I EBEEEERERs S‘o z _@ML ' : S Rt CEN, 957,
VECTORS IS ALSO CALCULATED. =R R R =R = = ¢ 3 | Expiration Date 10/29/2025 S e
4. THIS PIVOTING FORCE MUST BE RESISTED BY THE WITHDRAWAL =R =R = TR TR =% —=h 4 5" By Shag L Lhm Shi MNoswy NZ
STRENGTH OF THE SUM OF THE ANCHORS. SRE=¥=3=3=-3—F—3—N 2 g Miami-Dade Product Control =gt * Pk =
CLEARANCES: =R =R = R T TR = q- 4 D% SarEor  fo S
5. ANCHOR INTO DOOR SKIN MUST BE (5/16" DIA.) X o &R IR I 2R &% oo 4 (3) 92855 #10-16 x 5/8" 410 SS SCREWS [ CONFORMANGE TO wmf% 2O G S
ANCHOR STRENGTH:Q R R R =R == = =R ; ON 5" C USED ON EACH SIDE (6 TOTAL) | BRI-KO ENGINE AR rezz)
6. LATERIAL AND WITHDRAWAL STRENGTHS OF THE DESIGNATED =SS aaa 4 TO SECURE FLANGETO HOOD ASSTY | ENGINEEFING SEFZMVAL BN 5
ANCHORS. (RATED LOADS ARE PER SINGLE ANCHOR USING &P =R &0 4=k =R =R =R ; |\ ATFACTORY o o4 Ban i an-com e
ASD ALLOWABLE STRESS DESIGN. NOTE: FOR LRFD DESIGN R R RRRY S8 A ‘ sionED
ANAYSIS, VALUES X 1.5) X “ HEE <8 )
5/16" DIA RATED SHEER = 600 LBS RATED TENSION = 1000 LBS ] MD/13928 A LANARTZ PY paTe: JuL 29 201
(RATED VALUES BASED ON AISC 360-10: MAT'L $5-A307 WITH =8  MAT'L 20 GA (.035") PRE-PAINT

TOLERBNCES

FNV = 27KSI, FNT = 45KSI, ASD ALLOWABLE VALUE = RN/Q WHERE Q=2.00) Eie |2 Marvair oo oo

DECIMAL DRAWN BY TLC

+ 03 VENT“HOOD WACW o APPROVED BY

5/16"X 2 1/2" CARRIAGE BOLT T ' VENT-HOOD WAC HURRICANE APPROVAL

ANGULAR DATE DRAWING NUMBER HEN.

MY 7/13/2020 ID01644 PG 20f2 O



ic045
New Stamp


	21061517hood
	11805 SW 26 Street, Room 208
	DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER)

	NAO_20_0519_02_hood

